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Faults (PC): [0.075474173, 3.9252671]

Shot #: 3089, Param Tree: 72
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—Full Alction (DCPS),ILimit = 356.06000, Max
- Action (idl), Max = 1458.94, End Val.= 1458
: Full Action (idl), Limit = 356.000, Max.=145
L Shot #: 3089, Param Tree: 72

—Fault Time: 1.3260704

: Faults (L1) [AT,DT]: [0.0753994, 0.0657692]

.=1459.2198, End Val. 1458.9735+

D.19, End f/al. 1458.94

time

E_IDL, Circular, [-25.0110, 0.00687114]

Shot #: 3089, Param Tree: 72

DCPS, Circular, [-25.011038, 0.0068711376]
IDL, Shaped [Displaced], [-25.0110, 0.00687114]
DCPS, Shaped [Displaced], [-25.011038, 0.0068711376]
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